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1=K R 7|=x

scalar 2} Bl H

1. 2X7H 2 EIRRAS?

#summary(cars)
help(apply)
7apply
?help.search
example(apply)

2. H=22 FY

o 22|= ofC|o YASWt?
getwd()
e X2 HE2|0 I Y= A2?

objects()
Is()

o HZZ|Z HR2{H?rm

list.ls=Is()
rm(list=list.Is[1])
Is()

rm(1ist=1s())

Is()

e Tip: R2 LHAEXE 72
#HELP (apply)

3. Scalar
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#Four types. Numeric,character, logic, factor
#== Xt (numer ic)
x1=10

x2=2.3

x3=3
#=2XH(string)
S1="Hel lo wor Id"
S2="My name is ...
#=2l A& XH(logic)
L1=TRUE

L2=FALSE

ii. A
x1+x2
X1-x2
x1/x2
X1*x2
x1°x2
x1%/%x3 #5%
x1 %% x3 #LIOH X
X1%/%X2 #5%
x1 %% x2 #L+HO{ K|

nchar (S1)# SX 2=
paste(S1,S2) # =0|7|

LilL2 # & & Stlt=
L1 &L2# = Ck %0
L1 #L12 OtL
IL2
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x=c(10.4, 5.6, 3.1, 6.4, 21.7)
X

xn=(1:10)

XN

xr=rep(c(0,2),5)

Xr

i, M E|QF 2= XH(Scalar) GiAk: 4] 224 2 Ef

Ho

X+2
X=2
X3
1/x

iii. ME| S2|7|
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y=c(x,0)

y

y=c(x,0,y)

y
y3=rep(x, 10)
y3
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O (recycle) *&E THOj| W A..

vi=2#x+4
v

V2=2xxX+y+1
v2

v3=v1+v2
v3

vi

Xtv1
X-v1
X*Vv1
x/v1
XMV

Z0|7} Ct2EH?

x/y
Xy
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length(x)
#8, =
sum(x)

prod(x)
J_LEEJ;Hxl

max(x)

min(x)

range(x)

mean(x)

var (x)

sd(x)

median(x)

#z3g

sort(x)
sort(x,decreasing=T)

ohop £ 7f

i
vin

O H?

#H EOILH Lt
#xEe=

#exp(x,v1)
#2 0l
#length(x,v1)
8
#sort(x,v1)

# B2

#mean(x,v1)

## E%Haﬁu

+H=
w
.J

sum(x,v1)
2SAX
max(x,v1)
min(x,v1)
range(x,v1)
var (x,v1)

#H AT 308 ML
sd(x,v1)
median(x,v1)

4y JE
ne m

\"
w.
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xn=(1:10)

# &9
xseg=seq(1,
Xseq
xseq. 1=seq(from=1, to=9,by=2)
# 0K gs 2= BR
xseq.2=seq(from=1, length=5,by=2)
Xseq.2

EXE 2= 3R
xseq.3=seq(from=1, to=
Xseq.3

9, length=5)

T

Ht
H =
Xseqp=2"xn

Xseqp

#H =& 100. sH| 2.
xseqp2=100%(2~(0:9))

XSeqp2

## =8 100, Sdl 1/2. &= 10 Sdl=<
xseqp3=100*((1/2)7(0:9))

xseqp3d

St
=3

oI

297
2. sH

2.

o
4
S
on
=
1
ne

oo
4
3
ol
=5
1
ne

xge=(x >= 4)
xge

xgt=(x > 4)
xgt

xge=(x >= 4)
xge

xle=(x <= 4)
xle

xIt=(x < 4)
x|t

xand=(xgt & xge)
xand
xge

xor=(xgt | xIt)

xor
xneq
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c. 2At J12| 1 paste

XS:C( H1II , H2II , IISII , II4II)
#xsa=c(A,B,C,D)

#xsa
XSa:C( HAII , IIBH , IICII , IIDII)
Xsa

. 2xgg 2o

paste(xsa,col lapse="")
paste(xsa,col lapse=",")
paste(xsa,col lapse="-")

« EAE01E =S 02

paste(xsa, (1:5
paste(xsa, (1:5),sep="-")
paste("X",(1:5

vi. HS O} 7 7| (index), D2 7|

a. H| ¥ /2 (missing value: NA), ==X}7} 0} = (NaN)

z=c((-10:10),NA)
z

is.na(z)

z1=0/0

z1

is.na(z1)
is.nan(z)
is.nan(z1)

#0 2CH 320 NADE OFl A
z[z>0&!is.na(z)]

zt+1

(zH1)[2>08&!is.na(z)]

« A2 X[E

# EE, Bid
zl=length(z)
z[seq(1,z1,2)]
z[seq(0,z1,2)]

# U=
z[c(1,11,4)]

# L 0= B2
z[-c(1,4,14)]
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. BXtE K|

fruit=c(5,1,10,10,20,20)
names(fruit)=c("OR","BA","AP","AP","PE","PE")
fruit{c("OR","BA")]

fruitlc(1,2)]

« SZhA] HHLY

#NAE 022
z[is.na(z)]=0

Z

#0 BCF H2®™H 10022
z[z<0]=100

V4

vii. type HH1 7|, HFEH

a. type HFL7|

str(fruit)

=g 2
fruit.s=as.character (fruit)
#sum(fruit.s)

str(fruit.s)

nchar (fruit.s)
paste(fruit.s,col lapse="-")
#UA =Xt 2
fruit.n=as.numeric(fruit.s)
str(fruit.n)

sum(fruit.n)

nchar (fruit.s)
paste(fruit.n,col lapse="-")

= AL
° ':éu"TtﬂT
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state = C("tas", usau’ ||q|du, HnSW”, ”nSW“, “nt“, nwan, ”Wa”,
”qld“, ”ViC”, “nSW", HViC“, ”qld“, nqlduY ||Sau’ “taSH,

sa", "nt", "wa", "vic", "qld", "nsw", "nsw", "wa",

sa", "act", "nsw", "vic", "vic", "act")

incomes = ¢(60, 49, 40, 61, 64, 60, 59, 54, 62, 69, 70, 42, 56,
61, 61, 61, 58, 51, 48, 65, 49, 49, 41, 48, 52, 46,
59, 46, 58, 43)

statef=factor(state)
levels(statef)

# XAHE E2EHH
incmeans=tapply(incomes,statef,mean)
incster=tapply(incomes,statef,sd)
incfreg=tapply(incomes,statef, length)
table(statef)

incomef=factor (cut (incomes, 4))
table(statef, incomef)

incomeh=factor (cut (incomes,?2))
table(statef, incomef, incomeh)

« BT =0l type Eigt

as.character (statef)
as.numer ic(statef)

fruit.f=as.factor(fruit)
as.numeric(fruit.f)

Array, matrix (multi-dimension)

1. Array

z=(1:24)
z
str(z)

dim(z)=c(3,4,2)
z

str(z)

z[1:4]

z[1,.]

z[,1,]

z[,,1]

2.matrix= Array with two subscripts
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dim(z)=c(8,3)

N

t (A)%*%z
C=(1:3)
A%*%C

#inner product
t(C)%=*%C
#outer product
C%0%C

# o=
DC=diag(C)
a4

AA=t (A)%*%A
solve(AA)
AA%*%s0 | ve (AA)
# HEAESEA
y=AA%*%C
solve(AA,y)

#identity matrix
D=diag(3)
AA%*% | D-AA

#zero matrix

nr=3

nc=3
mzero=rep(0,nr*nc)
dim(mzero)=c(nr,nc)

str(z)
str(A)
str(AA)
(DC
(1D
str(mzero)

3. matrix from vector,vector from matrix
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X1=c(1,2,3)
X2=c(4,100,20)
XX=cbind(1,X1,X2)
str(XX)

as.vector (XX)
c(XX)

List and dataframe

1.list: OFR ALt C} W= 27
Lst=list(name="Fred",wife="Mary", no.children=3,child.ages=c(4,7,9))
length(Lst)
names(Lst)
str(Lst)

Lst[[1]]

Lst[1]

str(Lst[[1]])

str(Lst[1])

sum(Lst[[4]])

#sum(Lst[4])

Lst2=list(name="2t4 2" wife="?", no.children=2,child.ages=c(2,9))
LstLong=c(Lst,Lst2)

str(LstLong)

2. data frame : NxK & X &2 7t

DA=data.frame(AA)
Stateincome=data.frame(state, incomes)

str(Stateincome)
summary(Stateincome)

attach (DA)
detach ()

3. data framell} vector
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X1=(1:10)
X2=(101:110)
X3=(1001:1010)

D=data.frame(X1,X2,X3)
DS_C=apply(D,2,sum)
print("D/DS_C=")
print(D/DS_C)

# ™M 10l 2tEUI?

print("t(t(D)/DS_C=")
print(t(t(D)/DS_C))
# OlM ™M 1 Zul?

a=c(10, 100, 1000)
print ("a=")
print (a)
print ("'D/a=")
print(D/a)

print("t(t(D)/a)")
print(t(t(D)/a))
divby.a=data.frame(t(t(D)/a))

print("divided by a_columnwise")

print(divby.a)

DS_R=apply(D, 1,sum)
Share_row=D/DS_R

print ("divison by row sum")
print(Share_row)

4. data frameOf| A= SH-E
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#HE=SAH X
colSums(D)
rowSums (D)
colMeans(D)
rowMeans (D)
dim(D)

#UHE H=2SHX=? apply
makez=function (x) (x-mean(x))/sd(x)
cv=function (x) sd(x)/mean(x)
apply(D, 1,FUN=makez)
apply(D,2,FUN=makez)

#LAH2 HESHX aggregate
striris)

aggregate(data.frame(iris[,1:4]),by=list(iris$Species),FUN=mean)
aggregate(cbind(Sepal .Width,Sepal .Length)~Species,data=iris,FUN=mean )
aggregate(.~Species,data=iris,FUN=mean )
aggregate(.~Species,data=iris,FUN=cv)

aggregate(.~state,data=Stateincome, FUN=mean)
# ZN2J|(order)

Stateincome[order (Stateincome[,1],Stateincome[,2]),]
Stateincome[order (Stateincome[, 1],Stateincomel,2],decreasing=T), ]
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